t 0
0 500 1000 1500 2000 2500 3000 3500
Elevation [m]

NPI
0.1 90
T 0.0 ro o
© o
~ ~
:E‘ -0.1 F-90 =
= &
> -02 — 2000-2012 [ ~180 =
—— 2012-2016
-0.3 T T T T T T -270
2 200
0
150
T &
© -2 £
£ 100 =
G -a 4
h <
50
-6
_ o
0 500 1000 1500 2000 2500 3000 3500
Elevation [m]
Steffen
0.025 22,5
— 0.000 Foo
's T
@ —0.025 1 F-225 8
£ g
g ~0.050 1 450 e
S _0.075] F—67.5=
-0.100 T T T T T T -90.0
2 35
30
0l
— 25
0 &
2]
£ 20 §
©
§ -4 15 g
n 10
—61
5
-8 Ho
0 500 1000 1500 2000 2500 3000 3500
Elevation [m]
Benito
0.01 9
" 0.00 (R
© o
” =
§ -0.01 -9 £
o
« o
< -0.02 -18 =
-0.03 ] . . . . —27
2 12
0 10
T 8 =
© =2 £
E 6 =
©
g g
] 4 <
_6 5
_8 Ho
0 500 1000 1500 2000 2500 3000 3500
Elevation [m]
Nef
0.01 9
< 0.00 0o =
© o
” s
£ -om -9 Z
o
« o
S -0.02 -18 =
-0.03 -27
6 14
4 12
— 2 10
T L
£ 0 8 g
§—z 6 §
0 o_y 4
—6 2
-8

VCR [km?a~!]

| | ©
= ©

&

MCR [Mta~!]

VCR [km?a~!]

SECR [ma~?]
|
Y

SECR [ma™!]
M

—4

0.01

0.00

-0.01

—-0.02

—-0.03

SECR [ma~']
Loy

|
o

1 |
ENENINY

|
-3

|
-
=)

|
-
~

SECR [ma™']

San Quintin

18

-18

MCR [Mta~1]

-36

t 0
500 1000 1500 2000 2500 3000 3500

Elevation [m]

Colonia

60

t 0
500 1000 1500 2000 2500 3000 3500
Elevation [m]

HPN 1

Area [km?]

18

)
o
@

MCR [Mta~']

|
w
o

|
3
=

500 1000 1500 2000 2500

Elevation [m]

Gualas

=
1)

Area [km?]

t 0
3000 3500

MCR [Mta~!]

0
500 1000 1500 2000 2500 3000 3500

Elevation [m]

e
Area [km?]

VCR [km?a~!]

VCR [km?a~!]

VCR [km?a~!]

Elevation [m]

t 0
0 500 1000 1500 2000 2500 3000 3500

San Rafael
0.05 45
0.00 - ro o
o
pit
—0.05 F-45 =
o
o
-0.10 B F-90 =
-0.15 T T T T T -135
1 —1 60
0 50
T - 40 -~
© 5 £
E 30 =
20
g
_5 10
- 0
0 500 1000 1500 2000 2500 3000 3500
Elevation [m]
Acodado
0.02 18
0.00 ro -
o
i
—-0.02 F-18 =
o
9]
—0.04 Fr—36 =
—-0.06
2
0
- T
5 :
& -a g
o <
-6
Elevation [m]
Pared Norte
0.005 4.5
0.000 4 Yo 0.0
0
—0.005 4 -45 O
=
—0.010 4 -9.0
]
~0.015 -135 =
-0.020 T T T T -18.0
2 5
11
4
= 03
D &
3
2] i
©
v _3]
1
e
-5 Ho
0 500 1000 1500 2000 2500 3000 3500
Elevation [m]
Leones
0.003 27
0.002 18 =
©
it
0.001 09 =
o
]
0.000 00 =
—0.001 -0.9
2.0 4
1.5
~ 10 3
0 &
g 05 ) §
é 0.0 §
v
-0.5 1
-1.0
=15






